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| PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
| each sentence. Then mark the correct choice on your answer sheet.

1-  Ancient alchemists believed that wnsic P

... lead into gold.

1) mingle 2) direct 3) transfer 4) transmute
2-  Dan always beats me at chess because he develops such an ......... game plan that I can
never predict his next move.
1) eventual 2) ambiguous 3) elaborate 4) objective
3-  His election as President represented the .............. of his career.
1) sumimit 2) motivation 3) triangle 4) periphery
4-  She found the job frustrating, and felt she wasn’t ......... anything there,
1) flourishing 2) accomplishing 3) evolving 4) satisfying
5- Britain’s ......... over its colonies was threatened once nationalist sentiment began to
spread around the world.
1) hegemony 2) preference 3) compromise 4) independence
6- He........... all of his success to his mother's undying encouragement.
1) interprets 2) converts 3) attributes 4) results
7-  Youcan .......... the flavor of most dishes with the careful use of herbs.
1) initiate 2) impress 3) precede 4) enhance
8-  The pirate Blackbeard had a reputation for being a harsh, .......... man.
1) reliable 2) ruthless 3) perpetual 4) prevalent
9-  Being a direct relative of the deceased, her claim to the estate was ............ .
1) prominent 2) profound 3) legitimate 4) reckless

10- There are more than thirty species of rattlesnakes, varying in length from 20 inches to six
feet and also varying in ........... of venom.
1} domination 2) detection 3) conquest 4) toxicity

| PART B: Cloze Test

'5 Directions: Read the following passage and decide which choice (1), (2), (3), or II
(4) best fits each space. Then mark the correct choice on your answer sheet. |}

Football is (11) ....... ball game in the world and the most popular as a spectator sport.
The simplicity of the rules and the fact that it can be played practically everywhere
'] I |p—— to this popularity. It is played on all continents and in more than 200
countries. At the 2000 census (13) ........ by the world governing body, the Federation
Internationale de Football Association (FIFA), (14) ........ some 30 million registered
players at all levels. In addition, there are (15) ....... casual players involved in pickup
games in streets, on parking lots, on school playgrounds, in parks, and even, as in Brazil,
on beaches.

11- 1) played the most widely 2) the most widely played
3) played most widely 4) the widely most played

12- 1) has contributed 2) will be contributing
3) had contributed 4) will have contributed

13- 1) to be taken 2) was taken 3) that taken 4) taken

14- 1) which were 2) there were 3) they were 4) were

15- 1) many millions 2) many of millions
3) many millions of 4) many million
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| Part C: ding Cprehensi{}

Directions: Read the following three passages and answer the questions by choosing the
best choice (1), (2), (3), or (4). Then mark the correct choice on our answer sheet.

Passage 1

Promising as these approaches may be, conservation efforts will never succeed in the long
run if the local economic needs of people living in and near threatened ecosystems are not
taken into account. This is particularly true in developing countries, where much of the world’s
remaining undisturbed land is located. At the end of the 20th century, international
organizations such as the World Bank and the World Wildlife Fund launched a movement for
all countries in the developing world to set aside 10 percent of their forests in protected areas.
But many communities living near these protected areas have relied on the rain forest for food
and firewood for thousands of years. Left with few economic alternatives, these communities
may be left without enough food to eat.

To address this problem, the burgeoning field of conservation biology emphasizes
interaction with the people directly impacted by conservation measures. Conservation
biologists encourage such people to develop sustainable economic alternatives to destructive
harvesting and land use. One alternative is harvesting and selling renewable rain forest
products, such as vegetable ivory seeds from palms, known as tagua nuts, and brazil nuts.
Where protection measures permit, rain forest communities may undertake sustainable rain
forest logging operations, in which carefully selected trees are extracted in a way that has
minimal impact on the forest ecosystem. Still other communities are exploring medicinal plants
for drug development as ways to strengthen and diversify their economies.

According to the passage, conservation efforts will not generally bear fruit if -——--—-- g
1} people do not work together collectively  2) threatened ecosystems are not handled first
3) local people’s needs are disregarded 4) local economies are not advanced enough
The passage states that --------—--- .

1) most of the world’s remaining undisturbed land is located in countries other than the
developed ones

2) the World Bank and the World Wildlife Fund need to more seriously pursue the program
they have launched already

3) only 10 percent of the forests in protected areas is needed to meet local people’s economic
needs in developing countries

4) thousands of years of land use by people all over the world has left us with only one-tenth of
undisturbed land

According to the passage, the field of conservation biology --------- .

1) is gaining more and more importance

2) requires alternative approaches to land reservation

3) has turned a blind eye to people’s sustenance

4} 15 now in its incipient stage of development

It can be understood from the passage that the way some people harvest their field is -—- .

1) detrimental to the environment

2) to be discarded for more mechanized approaches

3) influenced by the fact they easily move to another area after the original area is destroyed

4) to be modified so that they would be able to collect more crops per acre
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Which of the following best represents the organization of the information in the
passage?

1) A complication is referred to and aspects of it are then discussed.

2) A warning is made and evidence to prove that it should be taken seriously is presented.

3) A problem is mentioned and various ways to take care of it are delineated.

4) A course of action is advocated and both its advantages and disadvantages are weighed.

The word “exploring” in paragraph 2 could best be replaced by -—---—- .
1) cultivating 2) utilizing 3) purchasing 4) considering
Passage 2

Unhealthy soil management methods have seriously degraded soil quality, caused soil
pollution, and enhanced erosion. Treating the soil with chemical fertilizers, pesticides, and
fungicides interferes with the natural processes occurring within the soil and destroys useful
organisms such as bacteria, fungi, and other microorganisms. For instance, strawberry farmers
in California fumigate the soil with methyl bromide to destroy organisms that may harm voung
strawberry plants. This process indiscriminately kills even beneficial microorganisms and
leaves the soil sterile and dependent upon fertilizer to support plant growth. This results in
heavy fertilizer use and increases polluted runoff into lakes and streams.

Improper irrigation practices in areas with poorly drained soil may result in salt deposits that
inhibit plant growth and may lead to crop failure. In 2000 BC, the ancient Sumerian cities of
the southern Tigris-Euphrates Valley in Mesopotamia depended on thriving agriculture. By
1500 BC, these cities had collapsed largely because of erop failure due to high soil salinity.
The same soil pollution problem exists today in the Indus Valley in Pakistan, the Nile Valley in
Egypt, and the Imperial Valley in California.

According to the passage, chemical fertilizers, pesticides, and fungicides seem to ~=-—-—-—-,
1} act as a barrier to soil erosion

2) be at odds with soil natural processes

3) need to be replaced by natural ways of enriching the soil

4) contribute to our ill health by making the soil unhealthy

The example given in the first paragraph ---------- .

1) bolsters the thesis of the paragraph

2) contradicts the earlier statement made in the paragraph

3) demonstrates that the problem already mentioned is not that severe everywhere

4) introduces a new chemical that farmers ean use to fumigate the soil without ruining it in the

long run
The word “indiscriminately™ in line 6 is closest in meaning {0 ----------- :
1) eventually 2) haphazardly 3) efficaciously 4) enormously
All of the following are cited as the offshoots of the process mentioned in line 6 EXCEPT
1) heavy use of fertilizers 2) extermination of some microorganisms
3) contamination of lakes and streams 4) making the soil fertile enough
The author mentions the ancient Sumerian cities to —--—--—--- -

1) call our attention to the fact that people in old times cared more about nature
2) prove that human agricultural practice has not changed much over the years
3) highlight the significance of what is very likely to occur on a large scale

4) improper irrigation practices are only in use in places similar to ancients cities
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What is the tone of the passage?
1) Historical 2) Alarming 3) Sarcastic 4) Acclamatory
Passage 3

The distribution of both swifts and hummingbirds is strongly influenced by the specialized
nature of their foods. Swifts are found virtually worldwide but are limited to areas where flying
insects are found in sufficient numbers to sustain adults and young. Food of this kind is
presumably more abundant in the tropics, and the family is primarily a tropical one; it is chiefly
in the tropics that 6 species (i.e., those whose ranges overlap), sometimes closely related, may
be found. Although there may be some altitudinal and other ecological separation of sympatric
species, virtually nothing is known about possible partition of environmental resources among
swifts; as many as three closely similar species of Chaetura can be seen foraging together in
Trinidad. Swifts also forage with swallows.

Hummingbirds are more specialized in their feeding habits, in that their bill shapes are, in
many cases, correlated with the shapes of the most commonly utilized flowers. Because
hummingbirds are restricted almost entirely to feeding at flowers, their distribution is affected
by flowering periods, and the virtually seasonless tropics, where flowers of some kind may be
found the year round, are, not surprisingly, the home of most species. Despite the degree of
specialization found, a flowering tree in the tropics may attract six species of hummingbirds
simultaneously. In some cases feeding areas are strongly defended territories; in others the
birds feed side by side, apparently ignoring each other completely.

It can be inferred from the passage that swifis feed on -—-——.

1) tree fruits 2) hummingbirds 3) smaller birds 4) insects
The word “foraging” in paragraph 1 is closest in meaning to -------- -
1) living 2) flying 3) competing with 4) searching for food

All of the following are TRUE about hummingbirds EXCEPT that -------—--- .
1) they are restricted almost entirely to feeding at flowers

2) flowering periods have an impact on their distribution

3) their distribution has no bearing on the specialized nature of their foods

4) they sometimes feed side by side, somehow ignoring each other completely
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